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DISTANCES FROM CENTER OF ROADWAY FOR CROSS-SECTIONING. ‘
Roadway 16 feet wide. Side Slopes 1 on 1.

For Single Track Embankment. ! 53 g
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10 [18.0 181|182 1833 | 1814 | 185 | 18:6 | 18.7 | 1838 | 1879 || 10 ; .
11 (19.0119:1|19.2{ 1933 |19.4 | 19.5[19:6 | 107 | 198 | 10'0 | 11 ¢ £
12 120.0 | 20.1|20.2| 203 | 2014 | 205 | 206 | 207 | 208 | 20.9 | 12

13 210|211 | 212 213]21.4|21.5 216|217 | 218 | 219 || 13

14 |22.0| 2211 | 222 [ 22.3 | 224 | 2235 | 226 | 227 | 228 | 220 || 14 ¢

15 | 23.0| 231 | 23.2 (233 | 23.4 | 235 | 23.6 | 23.7 | 238 | 239 || 15

16 || 24.0 | 241 | 242 (243 | 24.4 | 245 | 24.6 | 247 | 248 | 249 || 16

17 125.0 (251252 (253 | 25.4 | 255 | 256 | 257 | 258 | 250 || 17 ¢ \
18 [126.0 | 26.1| 26.2 [ 26.3 | 26.4 265 | 26.6 | 26.7 | 268 | 269 || 15 ¢

19 |1 27.0|27.1|27.2{ 273 | 27.4 | 2755 | 276 | 277 | 278 | 279 || 19 ¢

20 |28:0 281|282 283 | 2814 | 285 | 2816 | 287 | 28.8 | 289 | 20

21 29.0| 291292 | 20.3 | 29.4 | 29.5 | 20.6 | 207 | 208 [ 299 || 1

22 130.0 | 30.1|30.2|30.3 | 30.4 | 30.5| 30.6 | 30.7 | 30.3 | 300 | 22

23 131.0(311|31.2 313 [31.4]31.5 (316 |31.7| 318 | 319 | 23

24 32,0 (3211|322 | 32.3 [32.4| 325 [ 32.6 [ 327 | 32.8 | 320 | 24

25 133.0(33.1|332(33.3]|33.4 335 (336|337 (3338|339 | 55

26 (134.0 (341 |34.2(34.3[34.4 | 345|346 347318 [320 | 26 &

27 (135.0| 351|352 35.3 | 35.4 | 35.5 | 35:6 [ 35.7 [ 358 | 350 | 27

28 1136.0 | 36.1 | 36.2 | 36.3 | 36.4 | 36.5 [ 36.6 | 36.7 | 363 | 369 | 28

29 137.0 (37.1|37.2(37.3|37.4 | 37.587:6 | 377 378 | 370 | 29

30 (38.0381|38.2|38.3|38.4|385|38.6|387]|3%3 389 [l 30

31 [189.039.1]39.2|39.3|39.4|39.5]39.6]39.7]393 |30 || 51

82 [140.0 | 40.1 | 402 | 40.3 [ 40.4 | 405 | 40:6 | 407 | 40.8 | 4019 | 32 © |

32 141.0| 411|412 413|414 | 4155|416 | 417|418 | 410 33 |

34 [142:0| 421 | 42.2 | 4233 | 42.4 | 4235 | 426 | 427 | 428 | 42'0 | 54

35 (1430 | 431 | 432 | 4333 | 434 | 435 | 43.6 | 43.7 | 43.8 | 439 | 35

36 [(44.0 | 44.1 | 442 | 44.3 | 444 | 4455 | 446 | 447 | 248 | 420 | 30

37 1 45.0 | 451 | 45.2 | 453 | 45.4 | 45.5 | 45.6 | 45.7 | 45.8 | 45.0 | 37

38 (1 46.0 | 46.1 | 46.2 | 46.3 | 46.4 | 46.5 | 46.6 | 46.7 | 46.8 | 46.0 || 3%

30 | 47.0|47.1| 472|473 | 474 | 4755 | 476 | 4777 | 478 | 47°0 | 39

40 148:0148.1 1482148331 484 | 485 14876 | 2871 483 | 4579 || 30

Example—If point is 22.6 ft. above grade, how far should it be from center line &
to be a slope stake point? Ans. from Table 30.6. For same slopes but other widths
of roadbed, correct above figures by one-half difference in width of roadbed; thus in
example above, for 20 ft. roadbed distance will be 30.64-(20—16) +2 or 2 ft. added to
30.6 =32.6. For slopes of 1 on 114 see inside of back cover.
Copyright, 1914, by Eugene Dietzgen Co.
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CALCULATION OF EARTHWORK.

HEIGHT

.

DISTANCES FROM CENTER OF ROADWAY FOR CROSS-SECTIONING.
Roadway 16 feet wide. Side Slopes 1 on 1Y,
For Single Track Embankment. ¢
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Table gives eu. yds. in 1 ft. of a triangle of given width and height. - Corrections for
tenths of width are one tenth the values found under each height considering the widths
from 1 to 9 as tenths and similarly the corrections for tenths of height are one tenth the
fizures opposite width considering the heights from 1 to 9 astenths. Thusifw =16.2and
h =5.3, cu. yds. =1.48+4-.028+-.089 =1.597 cu. yds. orpractically 160 cu. yds. per 100 ft.
'fw exceeds 40 ft., use one half and multiply result by 2, if both w and h are large use

ne half of each and multiply result by 4. Any cross-section may be divided into
iangles by the followingrule. To the triangle of the sum of the outside cuts (orfills)
1, and 4 the roadbed =w, add the triangles formed by taking the distance out to each
ak in turn ( =w’s) by the difference between the cuts (or fills) on each side of it ( =h's)
ays subtracting the outer from the inner, :
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Example—If point is 22.6 ft. above grade, how far should it be from center line to
be & slope stake point? Ans. from Table 41.9. Tor same slopes but other widths of
roadbed correct above figures by one-half difference in width of roadbed; thus in example
above for 20 ft. roadbed distance will be 41.9+-(20—16)+2 or 2 ft. added to 41.9 =43.9,
For slopes of 1 on 1 see inside of front cover.
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